
-r-
3i morvriolvcrteilun

Seisgiel @ :

1t.$ ,st
evho,lte'r 2

5-

H ütrrc

?30's
Jl" h'h"lt Uä'[t- 3 ryvn.l x" rl-V,Iic

?q

11

h

?
{

(0.s) = O.25

=tl:3

(:;
q!

3t 4t

-
t./I
o
.9
o-

o.4

0.35

0.3

0.25

u.z

0.1 5

0.1

0.05

0
40 12

f Kopf
h

hr {,

h--3t

? (x,x, r(,K)

? (K, x,r(,u )

= rr. [0.s)'

tl

= [o.s) =

r ?(lt,(

= O.Zs

( ttol! od.' Z.H)

lryr VTCv

os,r) = (l) tosi'u-ri

,?, X) + ? ( X,?, U, v() + ?(z,v,ü,x)



-q-

.3eis jielc [;" 3 ,r,o*i o,l ve.rtei l,^"1c',
trt' vcrschieJ.-. W""te vo{ {1 ,^.J P.

/t :0.5
lf : -50

t':0 I



-t-
ß i nn ,,ryn i ql ve"t e;\ uuq€

ßeiscicl (3)' Ex pcti tn.",t.[lr

40 Etferitre",te

l4t$n'e, F.hl.tt..lh*;

ahesltar e,iot phtr. Gr;pe

wqLrtt W e't 
".g

I

i.allg. liest Je'
?= o.6rs

W',e- 5..p ist liE
Jc, Tehlärb 

"lhwn

0.25

o.2

0.15

0.1

0.05

0

t.oo,L.q U q.tt tni ü

i*' T.hler i^.t qrv.ll.

10

10 -

2_J

10

-4
10

c

10

?83,1.oHcsstrrr5

qiryr tv \rüt hriü vott

uiVueit, J.F Jc," ..Lr" U.rt rmtre.,ln.lt
o[le" 4o . 

Expt . li.gt ?

0 /L/,J2.5 10

? (lo,
;i- '

Fehlerbclken

0.683, 4o) :
?41

10. e rr)a 
o

uZ.b5

Fehierbolken

= 0.022

-!+ FeLlo* üL.*r.Lat,rt 2



^ 43-

To i SStrvr verl eil tauq-

345

f:0 t2 15

2 : 50.0

+
+

It=

h=
[=
)

I<
I1

0

I
I l,re.t t,3

urchrtcLei'.ti.Lr["" U.rü
?(h) = ?(h-,r)

s/tvrmeLis.h" Ve"teitr^r,g

r':0 | 2 3 4 5

7 r0

2 : 5.0_

r:0 20

w,.[tsr.["i.[ iJ,,rL." \lqrb

4<

X:zo
Lt GYc'?\^r.t - V""Lil,^r3



]E
' '*1'.1*

=.'O,
.' 

j

m
',,1,,..,'l'

|"oN@6+ONtOoooooooq
odooocicto

H
t8t8S50dctdcictci

,B; *
ill: <
tF l=t
-5

tB383Eoddd6öcj
rDN
o



-'ll-

&i ss ot - t/erteil,^t 
g-

Y1: =

\: irr"r

A;PJesuc\t' tJthnib t.I"r
?e'\,"\le',

h!

n)

Poisson prob,

[-e o) =

ftrt 3

Ic.l s

[tr> :
ltt) B

Lts) =

lr(6) :

bta =

[(s) =

[[g) =

0.otl
o.43
o.24
o. 22

o.4t
o.42
o. o6

0. 03

o. o'1

O. oo

4.00

Z-hl Jct vorl.,ovr lcr.r'. ilto- h."rg

Zelti",tc*r.ll At ".tl.llt-J"', Ver'.e

lq Kevtre ia,', ?ciü ,-tcr v^tl Ä t

tr = ryt- ?(at)
?cat) = tihUt \t. Z.t$l ei'ncs ei,vrtsl"rcr. l(pr,zrs \twr

l-tcrv.ll At.

Er w..rtl^yra : V..t.lluüJ tnit .tr = ,rn.p(at)
.I( -\)'e h= 0, 1rZ, .- .. .

0.4

r\-zE
\,. JJ

0.J

4.25

0.2

0.1 5

0.1

0.05

0

Zohl Je" Vet t, cLe

hi !tle*c- Z^h[ le,'

?oi rror, -

?tr, r) =

4 6 Bh
rod. decoy, lom:3.2

L Evi Je',r \r' stot- No.t*t J., t.lioo.L[ive,r Zetf.tts



Z . 3c.i:pist L;,' ti
---

crxi*,o*rio e ,{.e.1

Jun.ln e,trc ?oissotl - Vortcilrr,",q

----

5o Sri.t,llotiorszähler (Dut"hto'c'')

H"??ri[ 4 ]n[' f [Rns["ll ) = 0.01 (p'.3a1,1.*

hlic tto$ , ist Ji" ht hrib, J"F evn ErJe Je* HuFprio.lr

t och o,tle ZaLts' [*. htio-i ,.r^ ?

$evu"[r,u, ZoLl Je" ousge!*lls',r', Z;\1..r

? (o.,o.o4,so) = ttS) f tn-p)to = (o.3sj

&isso',1, h=o + 'Pco) : e-\ = e

gJ0s
- 5O.A"V|

= o6p;
_#1

5o

3',rnooni.[ %iS!om

N |l = 4oo

3i-o,o,,ot T"i ssom

0

4

2

>3

o,^t5"[ .

ows 3t[.
et t 54.
ar^r lr[.

0,605 0. (o?

o.3s( 0.303

0.0?6 0. 0?6

a.o4t 0.04{

0.366 C).3 (s

0.3?o 0. 3{g

a.4g,s ü.4sY

0.o?3 ü,.080



-31-

38
-fheoreticaldistributions Chap. 3

TABLE 3.2
TWO-TAI LED GAUSSIAN INTEGRAL
Giving thc pcrccrttagc probability that a

point'lies within the given nunlber ol o
from the mean
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1'AI}LE 3.]
ONE-TAILED GALJSSIAN INTITGRAL
Giving thc pcrccnragc probrrbiliry thar a
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clistribution 39
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